AGENDA CITY OF MILLER WEDNESDAY, JULY 14, 2021 7:00 P.M.

The City of Miller is an equal opportunity employer.

Call to Order

Pledge of Allegiance

Approval of Agenda

Public Input

1. Community Access Grant – 4th Street in Front of the Armory & High School

Adjourn

Miller East 4th Street Community Access Project

East 4th Street from East 5th Avenue to East 7th Avenue

| | Edit Tell Street | of H offi | East Till Survey month amore some as some so | | Water | Community | |
|-----------|--|-----------|--|--------------|-------------|--------------------------|-------------|
| Item | Description | Quantity | Unit Price | Total Cost | Main | Access | Local Share |
| Removals | vals | | | | | | |
| _ | Cold Milling Existing Asphalt Surfacing | 2,990 SY | \$5.00 | \$14,950.00 | \$2,500.00 | \$11,960.00 | \$490.00 |
| 2 | Unclassified Excavation | 1,500 CY | \$12.00 | \$18,000.00 | \$3,010.00 | \$14,400.00 | \$590.00 |
| w | Remove Concrete Curb and Gutter | 1,000 LF | \$7.00 | \$7,000.00 | | \$5,600.00 | \$1,400.00 |
| 4 | Remove Concrete Valley Gutter | 100 SY | \$14.00 | \$1,400.00 | | \$1,120.00 | \$280.00 |
| л. | Remove Concrete Driveway | 70 SY | \$14.00 | \$980.00 | | \$784.00 | \$196.00 |
| 6 | Remove Concrete Sidewalk | 316 SY | \$10.00 | \$3,160.00 | | \$2,528.00 | \$632.00 |
| 7 | Remove Asphalt Parking Surface | 180 SY | \$5.00 | \$900.00 | | \$720.00 | \$180.00 |
| ~ | Remove and Reset Traffic Sign with New Post | 8 EA | \$250.00 | \$2,000.00 | | \$1,600.00 | \$400.00 |
| Storn | Storm Sewer | | | | | | 91 200 00 |
| 9 | Storm Water Manhole | 2 EA | \$3,000.00 | \$6,000.00 | | \$4,800.00 | \$1,200.00 |
| 10 | 6" HDPE Perforated Drain Tile | 1,240 LF | \$35.00 | \$43,400.00 | | \$34,720.00 | \$8,680.00 |
| = | Connect to Existing Storm Sewer Inlet | I EA | \$1,000.00 | \$1,000.00 | | \$800.00 | \$200.00 |
| Wate | Water Main | | | | | | |
| 12 | 6" Water Main | 300 LF | \$35.00 | \$10,500.00 | \$10,500.00 | | |
| 13 | 6" Gate Valve | 1 EA | \$1,600.00 | \$1,600.00 | \$1,600.00 | | |
| 14 | Connect to Existing Water Main | 2 EA | \$1,300.00 | \$2,600.00 | \$2,600.00 | | |
| 15 | 6"x1" Saddle w/ Corp Stop | 3 EA | \$450.00 | \$1,350.00 | \$1,350.00 | | |
| 16 | I" Curb Stop w/ Box | 3 EA | \$450.00 | \$1,350.00 | \$1,350.00 | | |
| 17 | 1" Service Line | 75 LF | \$29.00 | \$2,175.00 | \$2,175.00 | | |
| 18 | Connect to Existing Water Service | 3 EA | \$350.00 | \$1,050.00 | \$1,050.00 | | |
| Surfacing | icing | ! ! | | | \$21 600 00 | \$102 249 00 | |
| 19 | Asphalt Surfacing (4") | 717 TN | \$180.00 | \$129,060.00 | \$21,000.00 | \$21,600.00 \$105,246.00 | \$4,212.00 |
| 20 | Place and Compact Recycled Millings and Gravel Base Course | 2,250 TN | \$20.00 | \$45,000.00 | \$6,750.00 | \$36,000.00 | \$2,250.00 |

| | Misce 29 30 31 32 33 | 21 22 23 24 25 26 27 28 | Item |
|--|--|--|---------------------|
| Biddi | Miscellaneous 29 Traffic Control 30 Erosion Control 31 Seed and Fertilize Disturbed Area 32 Incidental Construction 33 Mobilization | Geotextile Fabric Concrete Curb and Gutter Concrete Valley Gutter Concrete Fillet Section 6" Concrete Approach Concrete Sidewalk ADA Warning Panels Striping for Cross Walk, Handicapped and Parking | Description |
| Contin, Cons Desig ng and Contra Constructio Administra Tota | 1 LS 1 LS 450 SY 1 LS 1 LS | 3,300 SY 1,000 LF 70 SY 70 SY 155 SY 4,000 SF 120 SF | Quantity |
| Contingencies (10%) Construction Total Design Engineering Bidding and Contract Documents Construction Engineering Administration and Legal Total Project Cost | \$5,000.00 \$2,000.00 \$2.50 \$22,000.00 \$46,200.00 | \$3.50 \$40.00 \$110.00 \$120.00 \$110.00 \$10.00 \$70.00 | Unit Price |
| Subtotal \$507,700.00 Ontingencies (10%) \$50,800.00 Construction Total \$558,700.00 Design Engineering \$38,000.00 ontract Documents \$4,500.00 uction Engineering \$43,700.00 istration and Legal \$17,000.00 Total Project Cost \$661,900.00 | \$5,000.00 \$2,000.00 \$1,125.00 \$22,000.00 \$46,200.00 | \$11,550.00 \$40,000.00 \$7,700.00 \$8,400.00 \$17,050.00 \$40,000.00 \$8,400.00 | Total Cost |
| \$6,700.00 \$74,135.00 \$5,000.00 \$600.00 \$5,800.00 \$2,300.00 \$87,835.00 | \$1,500.00 \$600.00 \$3,000.00 \$6,100.00 | \$1,750.00 | Water Main |
| \$6,700.00 \$38,700.00 \$74,135.00 \$425,060.00 \$5,000.00 \$600.00 \$5,800.00 \$2,300.00 \$87,835.00 \$425,060.00 | \$1,500.00 \$3,500.00 \$600.00 \$1,400.00 \$900.00 \$3,000.00 \$16,700.00 \$6,100.00 \$35,100.00 \$6,100.00 \$35,100.00 | \$9,240.00 \$32,000.00 \$6,160.00 \$6,720.00 \$13,640.00 \$32,000.00 \$6,720.00 \$4,000.00 | Community Access |
| | \$225.00 \$2,300.00 \$5,000.00 \$54 105.00 | \$560.00 \$8,000.00 \$1,540.00 \$1,680.00 \$3,410.00 \$8,000.00 \$1,680.00 \$1,000.00 | Local Share |

APPLICATION FOR INDUSTRIAL PARK OR COMMUNITY ACCESS GRANT FUNDS

| APPLICATION FOR: INDU (Check one) | STRIAL PARK | COMMUNITY ACCESS | LXI |
|---|-------------------------------------|---|------------------------------|
| APPLICANT AND ADDRESS (Include unit of government) | S: | | |
| City of Miller 120 W. 2 nd St. Miller, SD 57362 | | | |
| PROJECT LOCATION: | | | |
| The project is located on East | st 4 th Street between E | East 5 th Avenue and East | 7 th Avenue. |
| PROJECT DESCRIPTION: | | | |
| The City of Miller is proposin school. This road is part of t need to be installed as a par | he daily bus route. The | oad that runs directly in fron nere is also some water m | ont of the nain that will |
| THE APPLICANT CERTIFIE | S THAT : | | |
| To the best of my knowledge and document has been duly authorize with all appropriate requirements in | ed by the governing body of | nis application is true and corre of the applicant and the applica | ect. The ant will comply |
| Ron Blachford, Mayor | (605) 853-2705 | | 7/12/21 |
| Name and Title (typed) | Phone | Signature | Date |
| APPLICATION PREPARED BY: | | | |
| Ted Dickey, Prog. Coor. | (605) 626-2595 | NECOG | 7/12/21 |
| Name and Title (typed) | Phone | Representing | Date |
| Terry Aker | (605) 996-7761 | SPN & Associates | 7/12/21 |
| Name of Consultant (typed) | Phone | Representing | Date |

COMMUNITY ACCESS GRANTS

| PROJECT TITLE: (Town, streets, project term Miller East 4 th Street Project | nini) ot | |
|---|--|-------------|
| 2. PROJECT INFORMA | ΠΟΝ: | |
| Project Lengthapproxima | tely 2 blocks Population 1,489 | |
| Existing roadway width 38 Feet | No. of businesses effected1 | |
| Existing surfacing type <u>Bituminou</u> Is there a current state grant/loan a Average Daily Traffic <u>250</u> | s associated with this project? Yes Percent Trucks 10% buses | |
| Future maintenance is to be perfor | med by: City of Miller | |
| Area of community to be served: in serve the school. | edicate locations of schools/businesses, etc. (include a map) This street w | <u>ıill</u> |
| This is included in the \$507,900 | | 38,70 |
| 3. PROJECT COSTS | \$17,000 | |
| NON PARTICIPATING ITEMS UTILITIES | \$74,135 CONSTRUCTION \$507,900 | |
| ENGINEERING | \$97,600 CONTINGENCIES \$50,800 | |
| OTHER - Admin and Legal | \$19,300 1 | |
| TOTAL | \$191,035 TOTAL \$558,700 | |
| TOTAL PROJECT COST\$ | \$425,060 | |
| Plus Local Share | \$661,900 | |
| of \$59,505 | | |
| 4. FUNDING OF PROJECT: | \$236,840 | |
| LOCAL | \$302,775 | |
| OTHER | Warring to the state of the sta | |
| DOT (80% OF PARTICIPATING I | | |
| | \$425,060 | |